
Quest ce que le cadeau  I' - ? ( )Quel nombre se trouve dans chaque cadeau?
100 ÷ 10 = 80 ÷ 10 = 88 ÷ 8 =90 ÷ 9 = 99 ÷ 11 = 36 ÷ 12 =144 ÷ 12 = 60 ÷ 10 = 30 ÷ 6 =44 ÷ 11 = 72 ÷ 12 = 100 ÷ 10 =60 ÷ 10 = 36 ÷ 6 = 84 ÷ 7 =50 ÷ = 10 96 ÷ = 8 144 ÷ = 1236 ÷ = 6 110 ÷ = 11 36 ÷ = 448 ÷ = 8 33 ÷ = 3 22 ÷ = 1133 ÷ = 11 70 ÷ = 7 66 ÷ = 660 ÷ = 5 18 ÷ = 9 24 ÷ = 6÷ 9 = 8 ÷ 3 = 3 ÷ 12 = 11÷ 12 = 6 ÷ 3 = 3 ÷ 9 = 3÷ 7 = 3 ÷ 12 = 5 ÷ 11 = 6÷ 7 = 3 ÷ 2 = 9 ÷ 4 = 8÷ 3 = 9 ÷ 6 = 4 ÷ 7 = 4
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Quest ce que le cadeau  I  Solutions' - ? ( )Quel nombre se trouve dans chaque cadeau?
100 ÷ 10 = 10 80 ÷ 10 = 8 88 ÷ 8 = 1190 ÷ 9 = 10 99 ÷ 11 = 9 36 ÷ 12 = 3144 ÷ 12 = 12 60 ÷ 10 = 6 30 ÷ 6 = 544 ÷ 11 = 4 72 ÷ 12 = 6 100 ÷ 10 = 1060 ÷ 10 = 6 36 ÷ 6 = 6 84 ÷ 7 = 1250 ÷ 5 = 10 96 ÷ 12 = 8 144 ÷ 12 = 1236 ÷ 6 = 6 110 ÷ 10 = 11 36 ÷ 9 = 448 ÷ 6 = 8 33 ÷ 11 = 3 22 ÷ 2 = 1133 ÷ 3 = 11 70 ÷ 10 = 7 66 ÷ 11 = 660 ÷ 12 = 5 18 ÷ 2 = 9 24 ÷ 4 = 672 ÷ 9 = 8 9 ÷ 3 = 3 132 ÷ 12 = 1172 ÷ 12 = 6 9 ÷ 3 = 3 27 ÷ 9 = 321 ÷ 7 = 3 60 ÷ 12 = 5 66 ÷ 11 = 621 ÷ 7 = 3 18 ÷ 2 = 9 32 ÷ 4 = 827 ÷ 3 = 9 24 ÷ 6 = 4 28 ÷ 7 = 4
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